<?xml version="1.0" encoding="utf-B"7=»
<calibration wser_name="calibration test">
<pedal>
<name>clutch</fmame>
<SENSOor>
<name=LC1</name>
<type>LC</type>
cmin>S5</min>
“max>254</max=
</senspr>
CSENSOor>
<name=F5R 1</ name=
<type=F5R</type>
cmin>3&63</min>
max>954</max>
</sensor>
<SENSOr>
name>IRT</name>
<type>IR</type>
cmin>0. 2356472795497 1 86<fmin>
<max>0.4603550295857 980« /max=>
</sensor>
</pedal>
<pedal>
“name=brake«</nams>»
CSENS0r>
cname=LC2</name>
<type>LC</type>
<min>74«</min~
smax=>114</max=>
o fsensors
CSENSOor>
<name=FSR2< name>
<type=F5R</type>
cmin>0</min>
<max>63s</max=
< fEensors
CSENS0r>
“name=IRk2</nams=
<type>IR</type>
<min>0</min=
<max>0.018236074 270557 < /max=
< fsensors
</pedal=>
<fcalibration=



